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11.3 Sum and Difference Identities PRACTICE
Directions: Tell whether each statement is true or false.
1) sin 75 = sin 50 cos 25 — 2) cos15 = cos60 cos45 + 3)
cos25 sin 25 sin 60 sin 45 tan 225 — 28 180 — tan45
P ~ 1+tan180tan45
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Directions: Write the expression as the sine, cosine or tangent of an angle.
4) sin42 cos17 — cos42 sin 17 5 tan 15+tan 47 6) cosE cosZ + sin=sinZ '
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Directions: Use the sum or dif ference identity fo find the exact value.
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Directions: Find the exact value.

13) sin(oc —f)

Given: CO8 X = %’ where () <oc< g
tanff = g,where{]<ﬁ<g
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1) tan(x —y)
Given: COS X =£,W1‘16’?"8 0°< x < 90°
cosy = —%,whe're 90° <y < 180°
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15) sin(ox +3)
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Given: sin ot=—, where « isin QuadrantI

cosff = — ;, where B is in Quadrant II]

16) cos(x + }r)
Given: COSX = 1— where Tex<2n
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Directions: Is the equationanidentity? Explainusing the sum or difference identities

17} COS(x - '.'IT) = COSX
(05X CosiT & S\«\?(E.\r\f}\ - (oK
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18) sin{x — m) = sinx
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Directions: Solve each triangle.
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